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FORMULA (Revision)

A formula is a relation connecting two or more variahle or let-
ters in a definite way. .

Example The area A of a triangle is given by the formula.
area A = giiiZiilg
“ 4*-b——%}
Example The volume V of a circular cylinder is given by

volume V = h

Subject of a formula

In a formula, V = m.r2.h
When one 1letter 'V’ in a formula is expressed in terms of the
other letter(s) 'r’, 'h’, the letter 'V’ is called the subject of
the formula.

Example 1 Make h as the subject of

A = 2nr.h + 2nr?

Example 2 (88) If x = 1 + Yy , then express y in terms of x.
1 -v

Example 3(84) If , . 2b(2y - x) , express y in terms of a, b and
x. Xx - 3y :



Example 4(85) If ab

= 1 , express b in terms of a and k.
ka + b k ‘

Example 5(86) If ; _ x + vy . 5 , where a # 0, express y in terms
of x and a. Yy - X

Example 6(87) If , . b _+ 3cd , express ¢ in terms of a, b and 4.
b - 3cd

Example 7 The figure is composited of a rectangle and a triangle.
a) Find the total area A of the
figure in terms of b, h and t.
b) Change the subject of the formula
from A to t.




HKCEE M.C.(83-88)

FORMULAE AND FUNCTIONS

1.
(83)

2.
(83)

(84)

.
(84)

5.
- {(83)

: Y= , :

If % = .y then z =

1 Yy 1 /x= 1 x=
A. —(— - ax B, —f— - a% C. — [ a% -

b x= e} .; Vs b v

1 v\ 1 xE
D. — | a= - — E. a® -

b xZ, b v=

A function fi(x) is called an even function if f(x) = f(—-x)
Which of the followings is/are even function(s) ?

(1) fsalx) = 1/x (2) fz(x) = x= (3) fs(x) = x3B
Ao (1) only .B. (2)y only C. (3) anly
D. (1) and (2) only ' E. (2) and (3) only
Z2b(2y — x) -
If a = —— , then y =
’ ®x — 3y -
a + 2Zb a — 2b a + 2b
A. x B-. X Cc. - %
Ja + 4b -Za + 4b Ia + 4b
3Ia + 4b -3Za + 4b
D. ——— x E. ——— X
a + 2b a.— Zb

If f(x) = logreZx — x";.r,'..therel 3 ‘f.r(x + 1) - f(x)"f
A. 10gi02 ~ 1 Bi logiel(x + 1)/x] .

10(x + 1} %o ( X+ 1

C. ‘ngg_o ———— g3 ]_66}_0_.._._____ EL ,1,Dg'11:)‘2—‘—'_—— '2)( .
. % o 10x ~ T n o :
ab 1
If- = —— , then b =
‘ka + b k
a ka ka k= a
A. 5. C. D.
a — k ka — 1 1 - ka a — k
k=a
E.
k — a
If a - Jb* + ¢c= =4d , then.c =
A. d - a + b B. a —-.:b - d C. * Jd=Z - a2 + »p=
D. £ (a= - d% - b*® E. % f(a - d)* - b3



7.
(857

8.
(84&)

9.

(86)

10.
(87)

11.
(87)

12. -

(88)

13..
(88}

T Of(2x) = Bx= + 4x , then f(3a) =

I
A. a= + ba B. 12a¥ + &a C. 27a% + &%a D. 108a~" + ba -
E. 2146a= + 1Z2a -
IT r= Jdh® - 7% | then the ratio r : h is -
A. 1 :.8 B.1:2f2 .C.1:2 D..1z:,/2 E. 1 ¢ 5
X + oy
iIf 1 - ———— = a (a % 0) , then y =
Yy — %
A. x B. x(a -2)/a C. x{a — 1)/a D. x(2 - a)/a
E. x(1 - a)/a ' ‘
b + 3Icd :
If a = ———— , then ¢ =
) b - Zcd )
a b cbla—1) b(a+1) ) bla—-1)
R, — B. — c. ——— b, —— E. —
bd - zd bd a—1 3d(a+l)

IT f(x) = x= + 1 , then f(x — 1) =

AL x* B. x=-—-1 C. x®+2  D. x®-2x E. x®Z=2%x+2
1+ v
I¥f x = ———— | then y =
- l _.y
x = 1 1+ x x + 1 x — 1 1 - x
A B. C. Do = E. ———
x 1 - x x — 1 X + 1 1 + x

If f(x) =3 + 2% . fhén f(2x) - f(x) =
A. 28 B. 230 Ci3 + 2p . D. 2°(2% + 1) E. 2n(2r - 4,

ANSWERS ,
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